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30197622(f&ninpe A4 Q< wintth 1690 700 1183
30192740|@nine A4, gniuwynp Q< wnnuh 1250 50 62.5
30197635 (@ninpe A4 hwuw, wwwndngph hwdwp 9L wnnuh 4875 3 244
30197621 dihwswpinh pninp G hwtn 2400 10 24.0
30197231 by QL hwtn 8 12000 96
22811150 Unpwnbiinp A4 uu hwwn 360 50 18.0
22811150 Lnpwwnbnp AS uu hwtn 150 400 60.0
22811150| Linpwwntitnp opwgnygny AS QL hwwn 1650 65 107.25
39263200|Fpwubiywlyuyht dwwnjwl 60 ko uu hwn 550 20 "
30199232|opwp A4 Q< hwn 28 500 14.0
30199230|Tpwn AS L hwin 20 500 10.0
30199280|opwp thnpp pywp 94 huwn 8 300 24
30192128{%phs ult gt LY huwtn 150 100 15.0
30192121{Sphs /Ywuynyun/ G hwtn 60 500 30
30192121|Snhs /yupdhp/ Q< hwtn 60 150 9.0
30192122|%phs /uly/ Qg huwtn 60 100 6.0
30192130|Uwwnhwn upwd, ntinhub gugngnd, No HB Q< hwwn 100 150 15.0
30192720{%dwuzhs ,Jwpybip, punadtint hwdwp < hwn 130 150 195
30199430| Lpnidubph pninpe QL huwtn 190 154 293
30199410| hupUwunuudynn pnunge /|Gjpy/ &g hwin 75 51 3.8
30199420| Lpnudubiph  enine unutawdpny Q< wnith 390 100 39.0
30199420| bowupwl gniiwnp A4 QL huwtn 275 180 4.95
(¢aprehyubn uznwubiph hwdwp, towuwu
30199420 Ywsniu 9L wnih 150 50 7.5
30197111 |“wphsh wubin thnpp qc wnth 100 20 2.0
30197112|4wphsh wubin dGd 24/6 g wnith 200 100 20.0
30197321 {4wphs 25 teh hwdwp i hwuwn 780 10 7.8
30197322|Gwnhy 25 -50keh hwidwn ac huwtn 2000 10 20.0
30197340 | Uwwlwnhs 9< hwtn 140 10 1.4
30197230 Fnpwwwuwl Yunwluwyny 9L hwn 90 50 4.5
30197235| (Fnpwwwuwl ubndwyny Q< hwtn 295 30 8.9
30197230 fenpwwwuwl ntighuny Q< hwwn 220 60 13.2
30197232|Upwqulwnutin, unjupwenes e hwtn 120 100 12
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30197230 Fnpwwwuwy-ntighuwnp Gplonwlwuh QL huwtn 500 900 450
30197230| prpwwwuwly-1 Qc hwin 650 100 65
30197230| pnRpwwwlwly-2 Qg hwuw 550 120 66
30192710|Unuhta dwnpun Q< hwn 279 100 27.9
24911300|Unuplia htinnd uu hwtn 150 10 15
30197331 Ywlhs pwununy /30 toh hwdwp/ QL hwtn 1830 5 92
30192160|Gwnphfu 9< huwin 170 100 17.0
30192160|Gwnhfu aphs 9c huwitn 270 20 5.4
30192100 NGwnhu Q< hwuwn 108 20 22
30192125 |9pwnwfunwyh dwpybp, Yuwnyn q< hwn 210 30 6.3
30192125 | Spwuwnwfunwlyh dwplybip, Yupdhp qg huwtn 210 10 23
30192125| Spwwnwfunwlh dwplbip, ul QL hwtn 210 20 4.2
39241210|Upwin uu hwun 420 10 4.2
30192133 Uphs Q< hwn 180 30 5.4
30192210{Uyns Utd Qg hww 350 50 125
30192232{Uyns pneb Q< huwtn 450 10 45
30192220{UYns thnpp QL hwin 100 100 10.0
30192230|bplynnuiwth ulng LYe huwtn 460 10 46
30141200 | Cwpwuwpp 9L hwtn 5450 5 27.25
30197220(renph wdpwy /ubndwly 19 dd/ QL wnntth 240 10 2.4
30197221{dneh wdpwl /ubindwly 51 dd/ Q< nntth 890 10 8.9
30192114 fwuwp Yuhph Juuwnyun Q< hww 240 10 2.4
30192111 {Y4uhph pwpdhy R4S Juuwnywn q< hwn 2500 20 50.0
30192111 |fdwuwph pwpdhly Guwnyun q<c hwn 280 4 11
39292110| S pwinwfuinwly $ihuy-swuptn uu hun 33000 3 99.0
30195900 Hpwinwiunwly wwnh < hwwn 20000 2 40.0
PwunwpnpEph hwiwp bwiiwnbudws,
30193200 ubinwuh Jpw npdnn nupwlwownbp Qg huwwn 4300 3 215
Spbuwywu whinnypubiph nuuwynpdwu
30193110| hwdwpwupubip /Spewdw Yndwbyw/ QL hwuwn 4200 5 21.0
30192720(Uwpltp, pungébnt hwdwp qC hwwn 108 60 6.5
39292120 Gpwuinwumnwlh dwpphsubip uu hwn 560 15 8.4
39241141 | Spwublywluwht nwtwy uu hwun 95 15 1.4
39292530|Lwunu uu hwtn 190 10 1:9
44921600 4wyha uu wnuh 160 10 1.6
30197120 | Un6qu gniiwynp ag wnnith 246 15 3.7
30192732| Ywqiwpwpwlwt quuywtwlbtp 9< hwin 100 200 20
30192730(fFwnwup/Ywaqd/ Q< hwtn 60 200 12
30192731 |ldwnwup/jwqd/216*303 Q< hwn 60 100 6
Lwdhuwghnt pwnwupubnp
30192731 |gppwywwhlubiph hwdwp Q< hwu 300 200 60
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15300000 |Ungtin uu g 100000 1 100.0
41111100]&n1p uu hwuwn 150 500 75.0
15860000|Unipé uu wnnuh 3000 26 78.0
15860000| 134 uu 20000 1 20.0
15820000 hudnptintu uu 100000 1 100.0
15321000|4jne uu 20000 1 20.0
15831000 | Gwpwpwijuq uu g 550 5 28
15842100 |Gnynqun, uu 465 800 372.0
Stupbuwlwt

19441200| oty uu dbiwnp 4 1000 4.0
39836000 Uyt uu hwn 700 50 35.0
39831240({Uwppnn unipbn /dwyt)/ uu [htp 120 300 36.0
39812600 |Uwppnn thnphubip /nwifuzw/ Ul hwwn 450 380 171.0
39831283 |<wwnwyh jwe Ju hwwn 560 150 84.0
39831245|0twn htinniy uu Lhtnp 210 260 54.6
39831241|06wn &kinph uu hwn 150 100 15.0
39831242 ®noh dwgph uu e 750 50 7.5
39831243 |Lywgph thngh wynndwn uu ug 700 20 14.0
39522330|Uwppnn Yuinp /9uong/ uu hwn 400 330 132.0
39522330|Uwppnn Yunp /wwwlyny uu hwn 450 200 90.0
39811300|0n pwpuiwgunn Unie'onwabindhs uu hwn 450 150 67.5
18141100|3knung pwulnpwywl /dwuinbbipny/ uu qnyg 230 80 18.4
39831247 |Uunnwhwunn Ujnie uwthwugnygh hwdwp uu hwn 700 250 175.0
39831280 |Uwwyh dwppbint hbnniy uu hwun 280 100 28.0
33761000|2niqwpwuh pnine uu hwn 90 5000 450.0
39513200|Uuaknnghy uu hwn 120 400 48.0
19641000 Mwpy wnipkphibuw)hu/dtd/ Uu huwitn 50 250 12.5
19641000 Mwpy wnihkphiGuwihu/thnpp/ uu hwn 8 2000 16.0
31531300| k), jwdw |t 154wn. E-27 uu hwwn 810 20 16.2
31531300|ky, jwuw |G 124w, E-14 uu hwuwn 800 50 40.0
31531300|ty. Lwduy (Gn 9w, E-27 uu huwuwn 800 80 64.0
31521210{ k. |wiy FYywund 20yuwn. uu huitn 400 200 80.0
31521220(k). (wdw Ehwund 404w, uu hwwn 400 180 72.0
31531300|ky. jwdw 120418, Lbn uu hwn 450 200 90.0
31685000|5pywpwgdwu jwp 54, 4 inknwung uu hwun 2000 30 60.0
31685000|bpywpwgdwl jwp 3 4, 5 wnbinwung uu hwn 2150 10 21.5
31685000 Lwp CAT 5E uu dtiwp 80 610 48.8
31442000 |Uwpuwnlyng AA uu hwn 80 100 8.0
31441000 |Uwiptnlng AAA uu hwin 80 200 16.0
44191700( &) wwwpnu/2niqupwuh, YepwdhYulwi/ uu hwwn 200 25 5.0
34921440(Unpwpyn uu hwwn 1800 20 36.0
18811240| Nawnhub Gphwpwéhe Ynzhly N42 uu qnyg 4500 1 45
44191700\ 4npnp 3x1,5 =24 uu hwtn 250 30 7.5
44191700 4npnp 2x1,5  1=2d uu hwun 250 50 125
44322200| k. qwp 2x1,5 uu hwwn 230 100 23.0
44322200k \wp 2x2,5 uu dtwnp 230 200 46.0
38621200(Lwybh ULl hwn 3000 10 30.0
38621200| <uylith 2,20/65 uu dbwp 15000 1 15.0
39221500{Uwhpwy wdwl Jwint uu hwn 200 30 6.0
39221490 uu hwn 200 160 32.0
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24911500|Unuhué /witnpngny /,754) uu hwwn 1400 2 2.8
31531300| k. |wiw 120/36 uu hwwn 450 50 225
39831262|ctwnh wdwl uu hwwn 3000 3 9
39514400 pneb upphsh wwpw uu hwtn 7000 1 7
44531120|pnhiny uu hwn 50 50 25
44531120 | Yywluhsutip uu huwin 600 8 48
39712400| k| snpwgnighs uu hwwn 30000 1 30
32551170|<bnwfunu Uu hwn 6000 10 60
42711170 Udwnndwwnn (Ywgph dbptitiw uu 160000 2 320
18111200| Upuinwhwgniuwn Juwiwgh uu hwn 8000 5 40.0
18111200| Upunwhwgniuwn innwduwpnnt uu hwn 6000 3 18.0
18421140 ULkwuguwjw ogunwgnpdldwu dknung uu hwn 44 1000 44.0
33141129] Hhdwy uu hww 230 1500 345.0
33141130 hdwy uu hwun 500 850 425.0
24451140 | Utuwnwhwuhs Unuetip uu thunp 2300 250 575.0
38411200 bpdwswih uu hwn 113000 1 13.0
33691176 Hennpwip uu 60000 1 60.0
14211118 <nn uu Ug 75 40 3.0
Chbwbynye
44521230 | Udpwly dnuwnwdh N1 uu huwin 10 300 3.0
44521230 |Udpwly dnuwnwdh N2 uu hwwn 10 300 3.0
42131480 (Pwlwup dhenty uu hwuwn 1500 80 120.0
31211140| | wuwywhnyhs dhwhug 32A uu hwwn 2000 5 10
31211140| £ wwwhndhs dhwdwg 40A uu huwin 2500 5 125
19520000 Hnipb| 6 uu huwn 10 800 8.0
19520000 Hnipb| $8 uu hwtn 10 200 2.0
31684400 Ywpnwl wpnwphu Uu huwun 750 20 15.0
31684100 | Uugwinhs wpunwphl uu hwn 750 5 38
31684400 (Ywpnuwy Uu hwtn 650 30 19.5
31684100 | Uugwinhy uu hwwn 650 40 26.0
42131100|2nph thwlwu Uy hwn 7500 5 375
42131100{2ph thwlw uu huwtn 3000 10 30
3171250 unnnyuwy GYynyt Bpynndwtp 1/2° uu hwtn 850 30 255
44411110 2ph &npwy &Y thwywuny Uu hwuwn 3500 8 28.0
31711250 8ugnifu pwnuhph uu hwwn 1600 10 16.0
31711250{Sugnifuh dyni funnnduwly uu hwn 1200 15 18.0
44411110|2pp fjuwnuhs funhwungh uu hwu 4000 10 40.0
44411110 nh fuwnuhs pwnuhph uu pwn 5200 10 52.0
31711250 {unnnywl GYniu fuwnuhsh uu hwtn 1100 20 220
31211180 Utgwinhs 2 inknwng uu hwtn 700 20 14
44411M10|Qph juwnuhs wwunh uu hwun 4400 <) 22.0
31686000]hupng Gypn uu hwtn 400 70 28.0
44311100 |Ubinwnwiwp F-1dd uu lg 800 8 6.4
44191700{Pwsny ppnugk 1/2' uu hwn 300 30 9.0
44191700|ubipnpp nbghubi 1/2' uu hwwn 50 80 4.0
44131400{Updniuly wyjwudwub 90°, f-1004dd uu huwn 1200 6.0
44131400{Updniuly wywudwub 45° f-1004d Uu thip 1200 6.0
44511100| LbpYwpwph gluuwy, uu hwwn 1600 8 12.8
4451100 LEpYwpwph quitwy, uu hwun 1600 10 16.0
42511128 | Rwdhwp onwthnfuntewu uu hwwn 7500 5 375
= fuwnupgh dpgnily, prupsp pwpanwgynn

42131470 hobigynn uu huwtn 2000 10 20
42131470|2ph dnpwlh dhontly YEu wnnywnny uu hwwn 1000 20 20




&nph dnpwyh dhenty pnuhsp pwpapwgynn

42131470 hokigynn uu hwn 1500 10 15
31211180 Uywnndwin wugwinhs 160 U uu hwin 20000 1 20
44191700 Gqpwdwwwyltu Ywhnyph, nwppbp uu hwun 3000 10 30.0
31711160 |EGYwpnn. 3dd uu wintth 4200 2 8.4
19520000 |ruguwits wjwudwuk' swihp 1/2' Ul hwn 250 6 1.5
44116100 HUM360x180x18 | wihuwgywd uu hwin 25000 2 50.0
44117100| +1N3,170x210x3, S|wdhuwgywd uu hwu 4000 2 8.0
14411100 Stfuupyulwu wn vu g 150 50 7.5
44423220\ Ubunwnuwlwd hwywpnyh wunhbwu uu hwuwn 70000 1 70.0
44521120 tnwiu thwlwuubnp Ywiundh uu hwn 1500 8 12.0
44221141 Mwwnnthwuh pnuwy uu hwwn 1500 10 15.0
24951130|Uhihynt Uu huwtn 1000 5 5.0
44521120 | Pwlwu nnwu Uu hwn 2200 10 22.0
44221141 nwu pnuwy Uu huwtin 2000 10 20.0
44521120| Pwywu nrwu Uu hwn 2000 5 10.0
42131490 up$nu (Jwgwpwuh uu hwwn 1000 20 20.0
31683400| k). tnwpwatuhs Uu hwtn 1000 10 10.0
44191700|Cwnwth wnpbnhwnb uu huwn 600 10 6.0
44511330 Munnunwlwhwu uu hwn 300 3 0.9
44112730{4wpnn pwn uu hwwn 1200 10 12.0
39221420 unquiuwl 2huwpwpwlwu Uu hwn 1600 10 16.0
44831500(Lnidhs uu hwn 800 10 8.0
44521190 Pwuwhubp Uu Ynduy| 5000 2 10.0
44921500 Yhwunupwn dtthwdwdnly uu la 120 210 25.2
44921500 otithwdwonty ghwuwihu uu lg 180 90 16.2
44163170 NEphut Ywd uhthynub funnnywly,3/4' uu dbwnp 400 100 40.0
44111413 | Bninwiubiply uwhwwy uu ug 1200 25 30.0
44111414 LbipYy |wunbipuwyhu uu ug 1000 100 100.0
44221161 |Tfuuh, Gypn nnwu, uwhwnwly uu hwn 700 100 70.0
44221161 (otuuh, Gupn nnwl, wlwuwlwgnyu Ul hwwn 700 20 14.0
44191700|Cphowl uu dkwp 400 40 16.0
44191700 | Lwihuwwb hwinwlh uwniug uu Ubup 100 40 4.0
31512360|Lnuwpawy- Yinp wiy uu hww 2000 10.0
19211300 fuhwin gnpdywéd Yunnp uu Utwnp 4500 18.0
39515440| Ninnwhwywg 2tpnwywpwgnyp uu pd 5000 60 300.0
39515200 Fwuwal sbpunwduwpwagnyn uu pd 7000 17 119.0
ElEywnpntwht wwpwgwubp/wugwybnh
31711100 {hwdwp / uu hwn 40500 1 40.5
ElYwpnuwiht wwpwowubp/wugwytunh
31711100 hwdwp / uu hwn 28500 1 28.5
39111140 Upnn 1 uu hwwn 28000 10 280.0
39111140 Upnn 2 uu hwn 11000 S 55.0
Swilwlwpgsuiht pbpaihlu
Cwdwlwpgswiht inbfuthlw qc 9011900 1 9011.9
48821200 | Cwiwlwpghs utipytip 1 Q< hwtn 2000000 1 2000.0
48821200 | <wdwywpahs ubipytp 2 e hwtn 1440000 2 2880.0
31151120 |Uufuwihwl vunigdwt uwpp 1 uu hwuwn 390000 1 390.0
31151120 |Uujuwihwu uungdwl uwpp 2 uu hwtn 48000 2 96.0
30232231 |unywn uhwywnuwl Q< huwtn 39000 2 78.0
30232231 |Upnwpht Ynzun uljwywnuwl Q< hwwn 50000 1 50.0
30236110 | Owbpwwnhy hhpnnnipgniu 1 Q< huin 14000 2 28.0
ANIAAT1I0 I Oukrninnbi ]l hhannns seneis 3 laVWa harnn *Talala) ] 16 0O




30237132{USB bplwpwgdwu (wp 9 hwtn 1500 5 7.5
30237112 | <wdwlwpgsh uunigdwl pny 1 Qg hwin 23000 2 46.0
3023712 | <wdwlyupgsh uunigdwl pinly 2 Q< hwuw 7000 10 70.0
30211260 | Mpngbunph hnjwgnighs 1 < hwuw 3000 2 6.0
30211260| Mpngbiunph hnywgnighs 2 QL hww 3500 2 7.0
30237300|@tpdnpunty Q< hwin 550 2 14
30211260 |<nuwuph wnwwunbip Q< hwtn 4500 3 135
30237460 | <wdwlwpgsh unbniwwn q< huwtn 3500 5 17.5
30237411 | Cwdwlwngsh dyuhy Q¢ hwn 2500 5 12.5
30237300 |3nindwl puntly Q< hwwn 500 2 1.0
30211260 |Lwgbpwjht ujuwdwnuwly < hwtn 4500 1 45
30237136 | Qwjuwjhu pwpwn B4 hwuwn 5000 2 10.0
302371358 wlguwjhu pwpin 1 q< hwn 3500 2 7.0
30237135|Swugwhu pwpw 2 Q< huwn 5000 2 10.0
32421100 | Swugwiht dwintfu uu hwwn 23000 2 46.0
30237113 |Swlguyhu Ynubluwinp Q< hww 50 150 7.5
31211200 | Swuguwjhu dinfuwupwitnhy uu hwwn 1000 10 10.0
31684400 Swuguiht Jupnwl uu hwitn 1000 10 10.0
32421200 |8wugwijht dhwynphs 1 uu huwtn 9500 2 19.0
32421200 [8wugwjhu dhwynphs 2 uu hwn 20000 2 40.0
32421200 8wugwhu dhwinphs 3 uu hwn 24000 2 48.0
32421200 [Swugwihu gnpdhpubiph hwiwpwént uu hwn 40000 1 40.0
30211220 | Cwiwlwpghs 1 QL hwuwn 350000 1 350.0
30211220 | Cwdwlwpghs 2 Q< huwtn 300000 16 4800.0
30237490 |Unupwnp =74 huwwn 60000 17 1020.0
32341110 | Pwpépwfunu uu hwin 22500 1 22.5
32341140 | Uywbgwlyw| Shypnpnunyg Uu huwn 6500 17 110.5
32421200 [Swugwjhtu nwnipkip uu huww 10000 1 10.0
32421200 [Swuguwyhu dhwynphs uu hwn 24000 1 24.0
44322100 |Swugwjhtu UTP dwinifu uu hwwn 23000 1 23.0
30237113|5e guuguiht Ynubilyinnp Q< hwin 70 50 3.5
0 9411710|Utindjwd puwljwu qugq uu Ya 208 1800 374.4
0 9132100|Ptughu, wnbohnud < (htn 420 2700 1134.0
22110000] Swywanywé gppbin uu hwwn 1000000 1 1000.0
34320000 (Uywnnywhbunwdwbp Uy hwun 1000000 1 1000.0
OURU3ARE3NRLLES
febipph pwdwunpnwgpniejwl
92411100 | dwnwjnipinLu uu npwd 200000 1 200.0
79961100 Lnuwulwpswlwl Swnwjnig|niuubp uu npwd 1000000 1 1000.0
79341100 |9ndwgnuwiht dwnwjnizniu Uu npwd 700000 1 700.0
79521100 Mwwntbuwhwudwt dwnwjniegjniutbp uu npwd 500000 1 500.0
79211190 | Nwpwwnhp wnihnh Swnwjnipniu QL npwd 960000 1 960
Qwpqwwwhwlwu dpwgpbph
72261160 |uywuwnpynid/<o/ Ul npwd 3485000 1 3485.0
LUppwlwl hwdwlywpgswihu dpwgpw)hu
thwpbpubph wbnwnpdwu , uwwuwpydwu
7221123 [dwnwnipgniuttip uu npwd 1194000 1 1194.0
Cwdwlwpgswihtu uwppbph wwhwwidwl -
50311120 |Jtpwunpngdwt dwnwjnigjniuttp uu npwd 990000 1 990.0
Cwiwlwpgswihu nbfutplwh
72611100 |jodwunuwydwl dwnwjnientu uu npud 990000 1 990.0




biEYywpwywl uwppbph, uwppwynpnulubph
YEpwunpnguwt b wywhwwudwu

50531200 | swnw)nipniuubp uu npwd 400000 1 400.0
Udundbpbuwubph Jbpwunpngdwt
50111330 dwnuynipjniu uu npwd 1000000 1 1000.0
63521200 Ptinuwthnfuwnpdwl dwnwjniegniu Uu npud 150000 1 150.0
dntuwnpwidhgngubiph hbin Yuwdwd
66511170 |wwwhnywgpwlwl dwnwjnipjntubp Uu npuwd 93000 1 93.0
60120000 | Swpuh dwnwjnipinLu uu npwy 100000 1 100.0
Spwuuwnpuiwiht thnjuwnpdwu
60231200 [dwnuwynieniuutn uu npwil 200000 1 200.0
Uywnndbpbuwubph [Jwgdwu b udwuwwnhy
50111180 | dwnwynipniuubip Uu npwy 120000 1 120.0
90921100 |Uunwhwudwu dwnwjnip)niu uu npwd 170000 1 170.0
Cwlwgwugwiht dwnwnipjniubbp
72411100 [dwwnnignnubip(isp) Q< nnuwd 3650000 1 3650.0
Ywqdwlbpwnipjwu punhwuny
64211230 htinwfunuwiht gwugh dwnwjnipntu S npwd 2800000 1 2800.0
Elunpwkubpghwih pwojudwu
65310000 | dwnwjnip|ntu uu npwd 21000000 1 21000.0
65210000 | Gwgh pwotudwl dwnwynip|niu uu npwd 12800000 1 12800.0
65111000 |2ph pwptudwt dwnwjnipniu uu npwd 2700000 1 2700.0
90511000 | Unpwhwnipjwl dwnwinipiniu uu nnuwil 730000 1 730.0
90921200 | Hinwinhquighw uu npw 15000 12 180.0
90431100 | 4tnwwepbph hbnwgdwl Swnwjnipniuutp uu npwd 55000 1 55.0
64112000 | Pnuwnwht dwnwjnip)niu uu npuwd 160000 1 160.0
Shunwdnnndubph b gnpénindwu
Swnw)nieyniubip(Ywunuwdnp onwyhu
60411200 | thnfuwnpdwl dwnwjnipiniutibiny uu nnwd 3000000 1 3000.0
Lbpywjwgnigswlywu W wpwpnnuiljuwpgught
98391160 | dwnwjnipjnitiibin Uy npwy 5000000 1 5000.0
hudtubpwlwu bwhiwgddwu
Sdwnwjnipniubin pwnwpwghwlwu
71322000 2huwuwpnjwu hwdwp Uu. e 650000 1 650.0
50531140 | Pnpdwpliuntp|wl dwnwnijniuubp uu nnwd 60000 1 60.0
UCrRUSULPLES
BhUpkinh, ghtnyeyniiinh pUewighl
45461100 |yGpwunpngdwl wptuwwnwupubip QL npwd 22750000 1 22750.0
Funnndwlubiph thnpuwphtdwu
45231113 |wgfuwwwupubp uu npwd 180000 1 180.0
79810000 | Swwgpwlwl wfuwmnwupubp Q< npwd 2500000 1 2500.0
79821190 | Yhuyndubph wwwgpnieniu uu npuwd 2500000 1 2500.0
“uhpubiph U npnadwliuhpubiph
48441700 [ ywwnpwundwl wpfuwnwuputp uu npwtl 150000 1 150.0
‘Hpwdupinphtlip
bntpnighnuh piugphiginup
UnruaveLel
Spbtuulputy uhippnyptibn
30197622|(3nune A4 G wnnuth 1690 20 33.8




30197231 Dy, Q< hwwn 8 5000 40
22811150 | Lnpwunbinp A4 Ul hwwn 360 100 36.0
22811150 Unpwunkitnp AS uu hwn 150 150 225
39263200| Fpwubiywluyht dwunjwl 60 ko uu hwwn 550 50 27.5
22811130{Stwp  hwuwn uu hwwn 500 50 25
30192128|9nhs ul gbjwjhu Q< hwn 150 150 22.5
30192121|Snhs /Yuwnywn/ Q< hwwn 60 100 6
30192121|Sphy /ywnpdhp/ Q<L hwin 60 50 3.0
30192122|%phs /uly/ Q¢ huin 60 20 12
30192130 | Uwuwhwn upwd, ntinhub gugngny, No HB Q< hwwn 100 100 10.0
30199420 Lonuiubph  pnine unuuadwapny Q< wintth 390 30 1.7
30197112 4wphsh wubin dbé 26/6 Q< wnuth 200 10 2.0
30197322|Y4wphs 25 -50k9h hwdwp QC hwwn 2000 5 10.0
30197230 r3nrwwwluwly nhghuny aC hwn 220 50 11.0
22851100|Upwqwlwpubp wjwuwnhly Uu hwn 210 50 10.5
30197230|(enpwwwluwl-nbghuwnp bphenwlywuh < hww 500 50 25
30197230 pnRrwwwlwly-$uyny ag hwn 550 20 n
24911300|Unuhud htinndy uu hww 150 10 1.5
30192160|Gwphtu g hwn 170 30 54
30192160|Twnppu gnhs e hwn 270 30 8.1
30192125 | Gpwwnwfunwyh dwpybp, Yuwnywn a< hwtn 210 200 42.0
30192125 | Spwwnwfunwyh dwpltp, Ywpdhp q< hwun 210 200 42.0
30192125 Ypwinwfunnwyh dwplybp, ul Qg hwn 210 200 420
39241210|Uypwwn uu hwuwn 420 50 21.0
30192133|Uphs Q¢ huwitn 180 20 3.6
30192210{Uyny Jb& q< hwn 350 20 7.0
30192230|bpYyynnuwuh ulng Q< hwui 460 20 9.2
30141200| Cwywuwpp q< hwn 5450 3 16.35
30197220|renreh wdpwl /ubindwy 19 dd/ 14 innth 240 20 48
30197221|fenph wdpwy /ubndwy 51 dd/ QL wnntth 890 20 17.8
30197221|(enph wdpwly /ubndwl 28dd/ qC wintth 360 20 {.2
39263400((3npeh wipwy utL winih 145 20 2.9
30192111|4uhph pwpshy RSO Juuwnywn q<c hwn 2500 3 7.5
30192111 {fdwuwph pwpéhy Ywwnywn Q< hwn 280 3 0.8
39292110| Spwinwiuinwly $ihw-swnn uu hwtn 33000 3 99.0
39263320|Opwgnyg wwnh uu hwuwn 1450 5 7.3
39292120 Hpwnwhuinwlh dwpphsubp uu hwn 560 50 28.0
30195911 | Fpwinwhuinwyh dwgquhu Qg wntth 580 20 1.6
44921600 | Ywhs uu wnuh 160 100 16.0
39141260 2qbunwwwhwpwu-1 S| hwwn 83400 1 83.4
39141260 2qbunwwwhwpwu-2 S| hwwn 61380 4 245.52
39121520 Spwwwhwpwu Q< hwn 83400 4 333.6
ouRU3ArG3NRLLEL
60120000 Swpuh dwnuw)nipjntu Uu npwd 100000 1 100.0
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480000

480.0
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